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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2018 

 

Subject Name : Strength of Materials   
 

Subject Code : 2TE04SOM1    Branch: Diploma (Civil) 

    

Semester : 4         Date :24/04/2018   Time : 10:30 To 01:30   Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions (14)  

 a)  The bending moment at the fixed end of a cantilever beam is 

(a) Maximum    (b) Minimum   (c)  Zero       (d) None of These 

(1) 

 b)  For a simply supported beam, loaded with point load, the B.M.D. will be 

(a) A triangle  (b) A parabolic curve   (c) A cubic curve    (d) None of these 

(1) 

 c)  Bending occurs due to the application of 

(a) Axial load   (b) Lateral load   (c) Torsional load    (d) None 

(1) 

 d)  Bending stresses in a beam are of  

(a) Constant values   (b) Variable values   (c) Constant nature   (d) None 

(1) 

 e)   A column that fails due to direct stress is called 

(a) Short column      (b) Long column   (c) Medium column   (d) Slender column 

(1) 

 f)  A column whose slenderness ratio is greater than 120 is known as 

(a) Short column   (b) Long column   (c) Medium column  (d) Composite column 
(1) 

 g)  Rankine’s formula is generally used when slenderness ratio lies in between 

(a) 0-60                (b) 0-80                 (c) 0-100                            (d) Any value 

(1) 

 h)  Euler’s formula is not valid for mild steel column when slenderness ratio is 

(a) More than 100    (b) Less than 100    (c) Less than 80     (d)More than 80 

(1) 

 i)  The Point of contraflexure occurs in case of 

(a) Cantilever beams   (b) Simply supported beams     (c) Over hanging beams 

(d) All types of beams 

(1) 

 j)  Moment area method is useful determining the following in a beam 

(a) slope and deflection at point           

(b) Shear force and bending moment at a point 

(c) tensile and compressive stresses at a point 

(d) None of the above 

(1) 

   

 

(1) 

 k)  Difference in slopes between two points A and B by the moment area method is 

given by 

(1) 
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(a) Area of BMD between A and B/2EI 

(b) Area of BMD between A and B/3EI 

(c) Area of BMD between A and B/EI 

(d) None 

 l)  Strain energy due to suddenly applied load is 

(a) Load x extension 

(b) 2 x Load x extension 

(c) 0.5 x Load x extension 

(d) None 

(1) 

 m)  Resilience is 

(a) Strain energy per unit length 

(b) Strain energy per unit area 

(c) Strain energy per unit volume 

(d) None 

(1) 

 n)  Shear modulus G is given by 

  (a)  G = t/g    (b)  G = g/t    (c)  G = Tg    (d)  G = T/g 

 

 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) An overhang beam is simply supported over two supports apart at 6 m distance 

with 1m overhang on both sides. The beam is subjected with UDL of 10kN/m 

over entire length. Draw Shear force diagram & bending moment diagram with 

all important points. 

(7) 

  

(b) 

 

Derive Bending Equation  M/I=f/y=E/R. 
(7) 

    

Q-3  Attempt all questions (14) 

 (a) A cantilever beam of 1m span and 200 x200 mm in section , carries a U.D.L of 

20 KN/m. Find maximum bending stress in the section  
(7) 

  

(b) 

 

A simply supported beam of span 5 m is subjected to an UDL of 30kN/m for a 

length of 3 m from its right support. Point load as 40KN and 50KN are acting at 

1.5m and 4 m distance from the right support respectively. Draw the S.F and B.M 

diagram  

(7) 

    

 

Q-4 

  

Attempt all questions 

 

 (a) A cantilever beam of span 1.5m carries a point load of 20kN at its free end. Find 

Maximum slope of Beam EI=2x10
4
 kN.m

2
 

(7) 

 (b) A cantilever beam of Span 3.6 m carries a point load of 60kN at free end. Find 

maximum slope and deflection of the beam EI=9x10
4
 kN.m

2
 

(7) 

    

Q-5  Attempt all questions (14) 

 (a) A 2 m long cantilever carries U.D.L of 10 kN/m on entire length . If maximum 

bending stress in the beam is 200Mpa then find diameter of circular section for 

the beam. 

(7) 

 (b) A 6 m long steel column 200x300 mm in section is fixed at both ends. Find least 

radius of gyration, slenderness ratio and Euler’s crippling load. 
(7) 
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Q-6  Attempt all questions (14) 

 (a) Write assumptions and limitation of Euler’s Formula. (7) 

 (b) A column can carry crippling load of 400kN. The Slenderness ration of Column 

is 100. It is hinged at both ends. If E=2x10
5
 N/mm

2
, calculate cross Sectional area 

of the column. 

(7) 

 

Q-7 

  

Attempt all questions 

(14) 

 (a) Show care of a hollow rectangular section of external dimension 300mm x 

450mm and thickness 15mm 
(7) 

 (b) A rectangular column is 300mm wide and 200 mm deep. A point load of 800 kN 

acts an eccentricity of 50 mm parallel to the width. Find out Maximum and 

Minimum stress. Also draw a fig for stress. 

(7) 

    

Q-8  Attempt all questions (14) 

 (a) A shaft transmits 120 kW power at 200RPM. Find diameter of Shaft if maximum 

Shear Stress is 80N/mm
2
 

(7) 

 (b) Explain Torsional rigidity. Write Assumptions in the theory of torsion. (7) 

    
 

 

 

 

Q-1  Attempt the following questions (14)  

 a)  કેન્ટિરલય ફીભના પીક્ષ છેડા ઩ય ફેન્ટડગ.............. હોમ છે. 

(એ) ભહત્તભ (ફી) ટમૂનતભ (સી) ઝીયો (ડી) આભાાંથી કોઈ નહીં 

(1) 

 b)  ન્સમ્઩રી સ઩ોિટ ફીભ ઩ય જો ઩ોઈટિ રોડ રાગતો હોમ તો ફેન્ટડગ ભોભેટિ ડામાગ્રાભ કેલો હળે  

(એ) એક ન્િકોણ (ફી) એક ઩યલરમ આકાયની કલટ (સી) એક ઘન લ઱ાાંક (ડી)  

(1) 

 c)  ફેન્ટડગ કમા કાયણે ઉદબલે છે.                                                                                            

(એ) અક્મ બાય (ફી) ઩ાર્શ્લીમ રોડ (સી) િૉયોસનર રોડ (ડી) આભાાંથી કોઈ નહીં 

(1) 

 d)  એક ફીભભાાં ફેન્ટડગ તણાલો……………ના હોમ  છે 

 (એ) સતત ભૂલ્મો (ફી) લેરયમેફર ભૂલ્મો (સી) સતત પ્રકૃન્ત (ડી) આભાાંથી કોઈ નહીં 

(1) 

 e)  ડામયેક સ્ટ્રેસના કાયણે પેઈર થતા કોરભ ને ...............કહે છે. 

(એ) રઘુ સ્ટ્તાંબ (ફી) રાાંફા કૉરભ (સી) ભધ્મભ સ્ટ્તાંબ (ડી) સ્ટ્રેટડય સ્ટ્તાંબ 

(1) 

 f)  એક કૉરભ જેની સ્ટ્રેટડયનેસ યેન્ળમો 120 કયતા લધાયે છે તેને.............તયીકે ઓ઱ખલાભાાં આલે છે 

(એ) રઘુ કોરભ (ફી) રાાંફા કૉરભ (સી) ભધ્મભ કોરભ  (ડી) સાંમુક્ત કૉરભ 

(1) 

 g)  યેન્ટકન સૂિનો સાભાટમ યીતે ઉ઩મોગ થામ છે. જ્માયે સ્ટ્રેટડયેળન યેન્ળમો................ લચ્ચે યહે છે                    

(એ) 0-60                (ફી) 0-80          (સી) 0-100             (ડી) કોઈ ઩ણ આાંક 

(1) 
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 h)  મુરયનો સૂિ ભાઈરડ સ્ટ્િીરના સ્ટ્તાંબ ભાિે ભાટમ નથી જ્માયે સ્ટ્રેટડયેળન યેન્ળમો......... હોમ છે               

(એ) 100 કયતાાં લધુ (ફી) 100 કયતાાં ઓછી (સી) 80 કયતાાં ઓછી (ડી) કયતાાં લધુ 80 

(1) 

 i)  ઩ોઈટિ ઓપ કોટરાક્રક્ચ્મુય............. ફીભ ભાાં જોલા ભ઱ે છે. 

 (એ) કેન્ટિરીલય ફીભ (ફી) પક્ત આધાયબૂત ફીભ (C) ફપન્ગગ ફીભ ઩ય (ડી) તભાભ પ્રકાયનાાં ફીભ 

(1) 

 j)  ભોભેટિ એરયમા ભેથડ ફીભ ભાાં ળુાં ળોધલા ભાિે ઉ઩મોગી થામ છે. 

એ) ન્ફદુ ઩ય ઢા઱ અને લ઱ાાંક 

(ફી) એક સભમે ળાય ફ઱ અને ફેન્ટડગ ક્ષણ 

(સી) એક તફક્કે તાણ અને સાંકુન્ચત તણાલ 

(ડી) ઉ઩યનાભાાંથી કોઈ નહીં 

(1) 

    

 k)  ભોભેટિ એરયમા ઩દ્ધન્ત દ્લાયા ફે ન્ફદુઓ A અને B લચ્ચેના ઢો઱ાલભાાં તપાલત..........દ્લાયા 

આ઩લાભાાં આલે છે 

(a) Area of BMD between A and B/2EI 

(b) Area of BMD between A and B/3EI 

(c) Area of BMD between A and B/EI 

(d) None 

(1) 

 l)  સ્ટ્રેઈન એનર્જી ના કાયણે  અચાનક ફ઱ રાગે છે જેને .........દ્લાયા દળાટલામ છે  

(a) Load x extension 

(b) 2 x Load x extension 

(c) 0.5 x Load x extension 

(d) None 

(1) 

 m)  ન્સ્ટ્થન્તસ્ટ્થા઩કતા......... 

 (એ) એકભની રાંફાઈ પ્રન્ત સ્ટ્રેઇન ઊર્જટ   (ફી) એકભ ન્લસ્ટ્તાય દીઠ સ્ટ્િનટ એનર્જી (સી) એકભ લોલ્મુભ 

દીઠ સ્ટ્િનટ એનર્જી          (ડી) કોઈ નહીં  

(1) 

 n)  ળીઅય ભોડ્મુરસ G દ્લાયા…………. આ઩લાભાાં આલે છે 

 (a)  G = t/g    (b)  G = g/t    (c)  G = Tg    (d)  G = T/g 

(1) 

 

 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) એક ઓંલયહટગીંગ ફીભ ફે સદા િેકા જેભની લચ્ચે ૬ ભી નુાં અાંતય છે. તેના ઉ઩ય િેકલેર છે તેભજ ફાંને 

તયપ ૧ ભી ના ઓંલયહેંગ ધયાલે છે. આ ફીભ ઉ઩ય ૪ કી . ટમુ ./ ભી સભન્લતરયત બાય સાં઩ૂણટ રાંફાઈ 

ઉ઩ય રાગે છે આ  ફીભ ભાિે કતટન ફ઱ અને નભન ધૂણટ આરેખ દોયો. 

(7) 

  

(b) 

 

ફેન્ટડગ સુિ તયલો  M/I=f/y=E/R. 

(7) 
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Q-3 Attempt all questions  (14) 

 (a) 200mm X 200mm નો આડછેદ તથા ૧ ભી ના ગા઱ાલા઱ા કેટિીરીલાય ઩ાિરા ઉ઩ય ૨૦  કી . ટમુ 

./ભી નો સમ્લીતરયત બાય રાગે છે. આડછેદ ઩ય ઉદ્બલતુાં ભહતભ નભન પ્રતીફ઱ ળોધો. 

(7) 

  

 

(b) 

 

 

એક સદી યીતે િેકલેર ફીભ નો ગા઱ો ૫ ભી છે. તેના ઩ય ૩૦ કી . ટમુ ./ ભી નો સમ્લીતરયત બાય 

જભણાિેકા થી ૩ ભી  ની રાંફાઈ ભાિે રાગે છે . ૪૦ કી.ટમુ . અને ૫૦ કી . ટમુ . નો ન્ફટદુબાય 

જભણા િેકા થી  અનુક્રભે ૧.૫ ભી.  અને ૪ ભી. ના અાંતયે રાગે છે. ન્સમય પોસટ અને ફેન્ટડગ ભોભેટિ 

ડામાગ્રાભદોયો. 

(7) 

    

 

Q-4 

  

Attempt all questions 

 

 (a) ૧.૫ ભી નો ગો઱ો ધયાલતી કેટિીરીલય ઩ાિડા ની ભુક્ત છેડે ૨૦ કી . ટમુ . નો ન્ફટદુબાય રાગે છે. 

EI= ૨ x ૧૦૪  કી . ટમુ . ભી૨  રઇ ઩ાતા઱નો  ભહત્તભ ઢા઱ ળોધો. 

(7) 

 (b) 3.6 ભી ગો઱ાલા઱ા કેટિીરીલય ઩ાત઱ા ના છેદે ૬૦ કી .ટમુ . ન્ફટદુબાય રાગે છે. ઩ાિડા નો ભહતભ 

ઢા઱ અને ન્લચરન ળોધો. 

(7) 

    

Q-5  Attempt all questions (14) 

 (a) એક કેટિીરીલય ફીભ ૨ ભી.  રાાંફો છે. તેના ઉ઩ય ૧૦ કી . ટમુ ./ ભી નો સમ્લીતરયતબાય સાં઩ૂણટ 

રાંફાઈ ઉ઩ય રાગે છે . જો ભહતભ નભન પ્રતીફ઱ ૨૦૦ ટમ/ુભીભી ૨   હોમ તો ગો઱ાકય આડછેદ લાય 

ફીભ નો વ્માસ ળોધો. 

(7) 

 (b) 200ભીભી x3૦૦ન્ભન્ભ  ના આડછેદ લા઱ો સ્ટ્િીર નો ૬ ભી રાાંફો સ્ટ્તાંબ ફને છેડે આફદ્ધ  છે. 

ટમુનતભ યેડીમસ ઓપ ગમયેસન , તનુતા  ગુણોત્તય અને મુરય નો ક્રી઩રીંગ બાય ળોધો 

(7) 

    

Q-6  Attempt all questions (14) 

 (a) મુાંરસટ ના સુિ ની ઩ૂલટધાયણા અને ભમાટદા રાખો. (7) 

 (b) એક કોરભ ૪૦૦ કી . ટમુ . નો ક્રી઩ન્રગ રોડ સહન કયે છે. તેનો સ્ટ્રેનડયનેસ યેસીમો ૧૦૦ છે. કોરભ 

ના ફાંને છેડા ન્હજ છે. જો  E=૨x૧૦૫  ટમુ /ભીભી૨ હોમ તો કોરભ નો જરૂયી આડછેદ ળોધો. 

(7) 

 

Q-7 

  

Attempt all questions 

(14) 

 (a) ફાહ્ય  ૩૦૦ ભીભી x ૪૫૦ ભીભી ભા઩ના ૧૫ ભીભી  ર્જડામ ના ઩ોરા રાંફચોયસ આડછેદ નો કોય 

દળાટલો. 

(7) 

 (b) એક રાંફચોયસ આડછેદ લા઱ો સ્ટ્તાંબ ૩૦૦ભી ભી ઩હો઱ો અને ૨૦૦ ભીભી ર્જડાઈ લા઱ો છે ૮૦૦ કી 

. ટમ.ુ નો ફીટદુબાય આડછેદ ના ભધ્મકેટર થી ૫૦ ભીભી  દુય ઩હો઱ાઈ ને સભાાંતય અક્ષ ઩ય રાગે છે. 

ભહતભ અને ટમુનતભ  પ્રતીફ઱ો ભાિે ની આકૃન્ત ઩ણ દોયો.  

(7) 

    

Q-8  Attempt all questions (14) 

 (a) ૨૦૦ RPM થી ૧૨૦ kW નો ઩ાલય રાટસપય કયતા ળાફ્િ નો વ્માસ ળોધો. ભહતભ કતટન પ્રતીફ઱ 

૮૦ ટમ/ુભીભી૨ રો. 

(7) 

 (b) િોસટન યીજીડીિી સભર્જલો તથા  િોસટન ની થીમયી ની ધાયણા ઓં રખો.  (7) 

    
 


